204 #=nBERE. gxgmrﬁ

— ERREBEE
4
-6t DABBAD 1-12ZACCABD
= 1EE A

B, (-5,1) 14 (%HU=12 0y - ah

[Ms 4]

BpUs. o), AW DT?':»SW.{%: 9(%’%‘) RN AT TR 2
e (=t B e (-0’29

LEPEAR Y=k e25) 00 1§ T4 (82T AL,

PILEML 5 wgA kelGo] L b=

[ R b4 )

AR S W NEY S S
VAR pl=pol= 6 8] . k=ka=k=0 B

AR ]°l!‘[’ I FOMEH |




T8 AN ORN W LN "IN e
K AG?) O ACTAER: bx-TY 41820
m: { boe-TY+18=0 ﬁ,.‘ { X= b 0(6,{;)

25- 1} +54=0 Y= A
(2) il ). B (2 B2y m4
7’¥-+4ﬂo—ll'lv D : rx.__:z ‘
{2'5:-»5"4! 52 sy=o " {g.:g Bl b

b1 £ % befIdER Y= - 500+ b B X424 -18=20

18. B2 () ROAGIHRHT. R T 'd“z_‘*:_;” A
W) OAGIDEZ . (x4)+ (4-2)"=20
@) Tl ) N695E R d=\f0-19 =1
"% Wﬁir’ﬁ*ﬁ’?-ﬂ’-l. W x=-2 R A(-12)

B d=) | GeAk
9% YR RARS |, i N Y= (xt2)

2 d= \ll%%l“ 2 | Iﬁ%@ k:%: L AN - 5';%(9?1‘2)

Tt AR LR =2 3x- #f+6=0




)?- @: N iACI ' ;lf-. E'fF, E.l'- /1B j\AC‘]'.E.. F’Q_DF ‘
&AICI I{AC_E_ HE:2A|G|

G AGEED , B DA=2DG

S BE_PE_,_ A
Fc = EB ke ol

SOpRhce, AEf f/BC
L RE@OET 1§ BB CCB
.- DE 1 3@ BB
(2) D50 an L FBABL X
B 2BAC B =108 C-Ak -B 69 2R
NABMCI=2BAC= T 3R AA=|. B)Ab 2, AB=4
R wA LT EERLENERERE
L] Ao.0.0), B0 1) ,B(25,2,0) ,C(04o), Gi(0:2,1)
A’ﬁ, =(00.1) ,7.‘5-.—.(2,]37,).,0) Pc =(33,2,0) , E,Lclz-(o,-;, N
W 3@ prp—T AR TN 2) | Rdsce 1 73RERsted 2)
2. { T - M=o
n, - FE =0
%Tﬁ‘ﬁ:“ > T=(11, 203)

—_— =~
'l.l,'CC| =0

:') _E;':( ,t#B.D)

i
('

S E . = T |
WAJ ek h> = m'ml—l_m-——q_
FER - DASBTAD &




Zo.ﬁ%: O Em(xy) N x+23
f-km"%h:fx?a ‘:':75 '“"T,(;% :'7;'
%3215 9‘%4-'4’:4
S CE)TAL -?;1+g‘=| (x#23)
(2) opte - P FAABFH0. R IRL: x=4y +|
plx. %) . 8% ).
i {'x"-*‘i‘i’:? 2% - (§49) froty-8=D

Y=Y |
Mtz Fe e gl
S T S b4
ﬂ') h-S'P hgn T 5% %N T _Fg ’;‘ft(;)—(;ﬂ-y") “+( FK)"

KB ke beu = m_w —— 3R, 1Rk
0] %-4=0 . K=

SR AL S(30) R (20)



2. B&-OPB N0 REM L MERERE
R'JE(D-U-M) ,9(3,6.0)‘ ¢(0,% 0) E
Als.0.0) . FL230,4T) \
S fe=(3,3,0) ,E]?f-(ﬂa-&, 2(1)
EF = (3,0.-47)
RpmetriBaiyi- e T
ﬁ']{ N BT’OQ n=(2.48) m
T Ef""
A ),
LR i _ VB / B
B o B> = e Wl B
- BkeAb FRrEF A KADIATED T
) 3% M4 0.p)  AAC, B] pc LBD, ACLDE
CACLEDEOE o fO(2,,0) §FBWERERE
LB = (-3,-3,48) , B =(0.3, m)
V2 %% bEM 59 2E B T= 42 | £

T - .1
sl % \ % n = (ﬂ—g"MI m, 6)
T - B'M =0

|m4‘nﬁ H>| = b’ = & ‘ETW %
B2 2 (Wom+15=0 ﬁqﬁ m="5g 30
T

2 melo, lﬂ:] *-'M:":Z “W|_:_3_
NS AT



2v.%%: ) QRRTE: c=\5 | L 20-\@R)3E t|otd = 4
052, 03, b=]
AR FIFFEE - L=
) AEAL = 4 p(xY) k(s ) W p'(%, -4

J_..!,. 'X:'bﬁ'rdl' ;s\ Y #3.=
L2 {%%,___4?—3 Pe) Y+ B +12=0

B Az - cz—xlz({’irﬂ >0 St
gl ?' = - m gldl _£%+4

WpiaY) ek g pae y=
A ofh: = Kkt 4 :gﬂ_ﬂﬁ"”“‘-*“ﬂﬁ'ﬂh

%) - Y,

ﬂu* '31 &,Tg.,_
?«r R 2"7!‘5‘%;4';}4‘41) = 24 f;—b- +4 =|
+ BL )

A o=y |44 | d=
R Sonps. = z {764 T\"ﬁr’—f *5 "(?5”%’)1"%3"

s 6’%""— A . TR A P i
stbpu- 'L’H— 2 U= {2 >0 =0

. Cp= B WG " b 2
a/ Ao “*Eu 2 4

R AT w= cu=d o t=20 09, 9930)
Copp A T




